INSTALLATION DIAGRAM CELESTRON NEXSTAR (r)

HEX NUT, 3/4"-10 LOW PROFILE SS
—_—

(MCMASTER(r) PART§ 91851A650
OR EOQUIVALENT)

FLAT WASHER, 3/4" x 1-1€2" SS
(MCMASTER(ré PARTY 98125A446
OR EQUIVALENT)

RUBBER FLAT WASHER, 3/4" x 1-1/2
(MCMASTER(r) PARTJ 90130A070
OR EQUIVALENT — OPTIONAL)

5416" SLOT FOR MILBURNér) AND
OTHER EQUATORIAL WEDGE

1-1/2" ALUM PIER PLATE /

\ o

d

o G

SIS

S o

=..7)

b\

, INSERT WITH 1/2"-13 THREADED HOLE

20 DEG

ADJUSTIBILITY

FOR CELESTRON(r) TELESCOPES
PREFFERED SLOT FOR ALT-AZ MOUNTING
MAY BE USED WITH CELESTRON(r)
HEAVY-DUTY TRIPOD BOLTS

TAPPED HOLES FOR EQUATORIAL WEDGE

RECESSED SLOTS ALLOW FOR SINGLE PLATE

RUBBER_FLAT WASHER, 3/4" x 1-1/2"
(MCMASTER(r) PARTH 90130A070
OR EQUIVALENT — OPTIONAL)

FLAT WASHER, 3/4" x 1-142" sS
(MCMASTER(ré PARTH 08125A448

OR EQUIVALENT)

| SOCKET HEAD SCREW WITH CENTER PIVOT FOR CELESTRON(r) TELESCOPES
/ { INCLUDED FOR CELESTRON(r))

HEX NUT, 3/4"—10 LOW PROFILE SS
(MCMASTER(rE PARTH 91851A650 — =
OR EOQUIVALENT)

12" ANCHOR L BOLT, 3/4"-10, SS
(MCMASTER rg PARTY 91615A4507 — ==
OR EQUIVALENT)

€

N—"
ANCHOR BOLTS SPACED 120 DEG APART
THIS BOLT SHOULD FACE NORTH

(e

(@

RON(r) TRIPOD BOLTS
T-AZ MODE

(@

/ 12" CONCRETE PIER

COPYRIGHT (C) 2005 DWH PRODUCTS & PIERPLATE.COM ALL RIGHTS RESERVED



ADDENDUM

MANY CUSTOMERS HAVE ASKED US TO ENLARGE THE SIZE OF THE MOUNTING SLOTS

OF OUR 12" PIER TOP PLATES TO MAKE UP FOR IMPERFECT BOLT AL IGNMENT. ALL

12" PLATES NOW HAVE WIDER MOUNTING SLOTS AND ALSO INCLUDE AN OPT IONAL
BRONZE SLEEVE BEARING THAT SLIDES OVER THE ANCHOR BOLT TO PROTECT THE PLATE
FROM THE ANCHOR BOLT THREADS. IF MORE LEEWAY IS NEEDED TO MOUNT THE PLATE,
THE BRONZE SLEEVE BEARING MAY BE OMITTED.

BRONZE SLEEVE BEARING
(INCLUDED IN NEW 12" PIER
TOP PLATES)

COPYRIGHT (C) 2009 DWH PRODUCTS & PIERPLATES.COM ALL RIGHTS RESERVED



